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7. Assume that m stores 262.3846 and n stores -532.3762. State the results of the following print commands without using the computer.

(a)
?ABS(m)+INT(ABS(n))

794.3846

(b)
?ROUND(m,1),Round(n,1)

262.4

-532.4

(c)
?ROUND(m,0),Round(n,0)

262 -532

(d)
?ROUND(m,-1),Round(n,-1)

260 -530

(e)
?ROUND(m,-2),Round(n,-2)

300 -500

8. Assume that p stores 144 and q stores 14. State the results of the following print commands without using the computer.

(a)
?SQRT(p)


12.00

(b)
?MOD(p,q)


4

(c)
?MOD(q,p)


14

(d)
?MOD(-p,q)


10

(e)
?MOD(q,sqrt(p))


2

9.
(a) 
Suggest two ways to determine the existence of a substring y in a string x. (3 marks)



?at(y,x)
If the returned value is larger than 0, the substring y is in the string x while the returned value indicates where the substring locate.



y$x
If the returned value is .T., the substring y is in the string x.


(b)
Given a string variable x. Discuss how you can convert the first character into upper case in ONE statement. (4 marks)



?UPPER(left(x,1)) + right(x, length(x)-1)


(c)
The staff code of a company is a five-digit string padded with 0's in front. For instance, '00130, '00235' are valid staff codes. Suppose x is a staff code. Explain how you would increase x by 1. (5 marks)



?substr(ltrim(str(val(x)+1+100000)), 2)


(d)
An encoding system wraps the last character of a string to the front. For example, 'TAS' is encode as 'STA' and '123' is encoded as '312'. Write ONE statement to encode a string variable x. (3 marks)



?STUFF(RIGHT(x,1) + SUBSTR(x,1), LEN(RIGHT(x,1) + SUBSTR(x,1)),1,’’)


(e)
Another encoding system shifes the ASCII code of the second letter in a string by 1. For example, 'TAS' is encoded as 'TBS' and '123' is encoded as '133'. Write ONE statement to encode a string variable x using the new encoding system. (5 marks)



?LEFT(x,1) + CHR(ASC(SUBSTR(x,2)) + 1) + SUBSTR(x,3)

10.
Assume that date is set to MDY, SET CENTURY is off and the century is set to 19. Given that a date variable D1 stores {02/23/2003} and a string variable D2 stores '23/02/2003'.


(a)
Explain the differences between DOW() and CDOW(). Find the weekday of date D1. (3 marks)



DOW returns a numeric day-of-the-week value from a Date or DateTime expression. But CDOW returns the name of the day of the week as a string in proper noun format.



D1 is Sunday.


(b)
Write ONE statement that prints the day one week after given date D1. (1 mark)



?D1 + 7


(c)
Write ONE statement that operates on the variable D1 to display the date in the following format:




Day 23 of the month Feb. in the year 2003


(5 marks)



?’Day ‘ + ltrim(str(day(D1))) +’ of the month ‘ + left(CMONTH(D1),3) +’.’ + ‘ in the year ‘ + ltrim(str(year(D1)))


(d)
What is the result of the following print command?




? LEN(DTOC(D1))




(2 marks)
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(e)
Explain how you can find the weekday for the date represented by D2.
(3 marks)



First, set the date to DD/MM/YY, then use CTOD command to convert D2 into date from Character. Then use CDOW command to find the weekday from D2



SET date DMY



?cdow(ctod(D2))


(f)
Discuss how you can convert D1 into the format of D2.

(2 marks)



?DTOC(D1)


(g)
D2 takes up more memory space than D1. Explain briefly.

(2 marks)



D2 is CHARACTER type which occupy 10 bytes, but D1 is Date types which only uses up 8 bytes.


(h)
If D2 is written as '02/23/03', explain how you can convert it into the date represented by D1. (2 marks)


Use CTOW command to convert D2 into date type where D1 is and set the date to MM/DD/YY and century to 20:

SET date DMY

SET CENTURY to 20

?CTOW(D2)

